SEP50508S (77POLE)

2-M10X1.5 TAP,DP18 50, /15
(SIDE STOPPER)
o
©
"o
o
<
™
o
o
©
|

4-M10X1.5 TAP,DP18

(SIDE STOPPER)

|1 ]
l I =
-3 J
140 185 190 185 140 it
77- M8 X1.25 TAP,DP8 28 222 340 222 28 4-M12X1.75 TAP,DP22
(EX.POLE) (EYE BOLT)
_ | |
(ap] ‘ tg;
'?’ ° ° o || o ?//
| | o
\ o || o ° o || o \ 0
o || o ° o || o
o o o
2 & ][]l - o[ et s
o || o ° o || o
\ o || o ° o || ¢ \ 3
(a\]
,$, o || o ° o || e ,$,
| | 0
s | | \@
(ap]
|
POWER CONNECTOR 45 190 30 310 30 190 45 4- 18 DRILL, THRU
840 (926 C'BORE, DP20
4-M10X1.5 TAP,DP18
(SIDE STOPPER)
140 185 190 185 140
Te]
- il
5 Ae— — : T 3
© - | Iu‘ Lo
90
A

Isometric view (1:10)

17

15

11

Detail A (2:3)

(SIDE SLOT)

15 50 2-M10X1.5 TAP,DP18
(SIDE STOPPER)
o
(co)
J
o
<
(3p)
(o]
o
(co)
=
© ;
—

SURFACE

FINISH /\/(V)(W)(VW)

APPROVED

mme | SEP50508S00-HL _ASS'Y

GENERAL TOLERNCE
(MACHINING)

OVER T0

-6 0.1
6 - 30 0.2

30 - 120 0.3
120 - 315 0.5
315 - 1000 0.8

SUFFIX MARK

SUBJECT

DATE

NAME

CHECKED

1000 - 2000 .2
2000 - 4000 2.0

g | c0 | v . A i | wa
HEAT MODEL

TREATHENT HiC  N/A CHECKED NA MAT. N/A scate| 1/5
HEAT

Mmoo N/A oestaneo | SJ . KIM REF. DRG. NO. DRZ‘2NOI SEP50508500-HL |1/1 J;L

smeel  wa e | wnen /A S 2491011

A2(597x420)

(3] Y7 =H2 NPE NFUS 40 RO, 'Y JYYN| N FYUUIUQ B0 U HES XYOH0] AH U0 Ot L (HYO0] j= YAUHIY, NUIYR SS ZYOID US £ UASUCH 2 A0 ZYHE YR M TE= ULSE QTOZ MI3NMO0IH 3, IR, SN E= NH0H= HS YHOI SN,




